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2017

ZOOLOGY
( General )
( Physiology, Biochemistry and Endocrinology )
Full Marks : 80
. Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. (@) Choose the correct answer from any

five of the following : 1x5=5
e A R @ 2ior e Saech!
e Tferear : '
(i) Casein is an animal protein found .
in
o T @Ry T 2" RGT o T
(1) fish/v=® .

(2) meat/m"\'ﬂ'@_
(3) cheese/W@
(4) milk/MITS
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(i)

(ifi)

(2)

Liver secretes

LS HIT I

(.l) digestive enzyme -
A6 ST

(2) succus entericus
SRT5 TR

(3) hormone
[A

(4) None of the above
Tofgq Gbre T

Exchange of gases between the
blood and tissue of the body is
known as

(OR HF N5 TN o (=9 Ay
@A AR Q@I

(1) counter-current exchange
FEHR-FIES Rfww
(2) external respiration
AR "’
(3) internal réspiratioh
e
(4) cellular respiration
IR P
| { Continued )



(3)

(iv) Pacemaker of heart is
TN /TR (R
(1) S-A node/S-A+’'S
" (2) A-V node/A-VI'T
(3) A-V septum/A-V (5O
(4) I-A septum/I-A (5%T
(v) Urea is transported by
TR ke =
(1) plasma
RIS
(2) blood
Co%d Al
(3) RBC
@S 3@ FRFE T
(4) WBC
1S 3% 9P 7_

(vi) Hormone responsible for the
development of sexual character
. in female is
& oRe RerR I e /W0
ey
(1) estrogen/98’ze=
(2) androgen/<9%’t&
(3) progesterone /&’ T&EIA
(4) thyroxine /%3’
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(b} Fill in the blanks of any five of the

following : ‘ . 1x5=5
wore AT R @A BRI 97 @
9 :

(i} Keratin is a protein.
@afoa 9y o' |

(ii) The carbohydrate molecule of
cellulose is a .
o &S 41 R0 (Ao R |

(i) Ammonia is combined with _____
to form urea.
[RA e PR W o
YT W |

(iv) The space between duramater and
arachnoid layer is known as _____
cavity.
TR OF ARHC SR TES o=l
R 1R QA |

(v) The secretion of endocrine gland
is callded .
SRFRA ART W I oowlE
QA |

' (vi} The largest secretory gland of the
body is .
TR ORI OIeT A afR txm |
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2. Write short notes on any five of the
following : 2x5=10
o R @ Aiver eeRe oy o forit
(a) Pancreas /SR
(b) Uricotelic animal/XSR%'f@ o
(c) Chloride shift/#'3%C FARII

_(d) Diabetes insipidus/SHabE ZRfren
(e) Cretinism /c@FofRes

() Adenohypophysis/<fR 22 Fizfer
(g) Mode/3T®

3. Answer any four of the following : 5x4=20

wd R @ wif¥er e for -

(@) Draw a labelled diagram of the
histological structure of thyroid gland..

YRS AR WERA AR «b ffFe foa
1 |

(b) Describe the role of saliva in digestion
of food.
o[15 2AfFIre AR TR PRF 3601 T4 |

(c) Describe the structure and functions
of nephron.

GTFT 515 S T 301 41 |
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(d) Write four important functions of
blood.

(54 BIfR01 e I R o o

(e) Write about the function of pancreatic
juice during digestion of food in
human intestine.

AP ICT IRI NFS qMRB 04 41
el eFaICHT 36T 0 |

(/) What is saltatory conduction?
Describe the conduction of nerve

impulse through myelinated nerve
- fibre.

SCO0Al PR I & qE 2 W
SREANYE TP ACHI NY RN @A
2RI =W, 36T 41 |

4. Answer any four of the following : = 10x4=40
ol R e wifkem Teq foray

{a) Which organ secrets bile? Describe the
composition of bile. Write about the
role of bile in the digestion of foods.

1+4+5=10
PR w0 Preer w1 w32 PreeTe
R RfSH bz 3 =01 A e
@RS Prege i 36 w1
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(b)

(c)

(d)

(e)

A7/625

(7)

What do you mean by blood group?

How many types of blood .groups are

found in human being? Write the role

of blood groups in blood transfusion.
2+4+4=10

@ o & 3w 2 WgeR (e ferae
T ([ I[? IS SE & TR
CFIS ISTEH SRP S 41 | ‘

What is blood coagulation? Write the
mechanism of blood coagulation. 2+8=10

IF o f$9 36 Srows o 3¢
Bl

What is enzyme? Describe the
chemical nature of enzyme. How are -
they classified? 1+5+4=10
BT i [ 32 Sernew AR

of N PO TOHIEAR @R
cofReTeS S W |

Why is pituitary gland called ‘master
gland? What are the different parts of
pituitary gland? Describe the different

. types of hormone found in anterior

pituitary. ; ' '2+2+6=‘10
PHOA afes R ‘afRelfs’ 3F mr =
oA aff Rfes wwrmR & &2 @y
FAGRORICT w91 41 290 PR e s o
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(f/ Describe about the gonadal hormones
and their function. 10
T afeq o[ wRe @@ [ TR
9 90 1

fg) Describe the physiological process of
digestion and absorption of

carbohydrates in man. 7+3=10
TR (72 M oI5 S SRCEeT 2ifewn
el 341 |
(h) (i) Describe about the utility of bio-
statistics. 6
te-+ifeora R 9 Rea 3
911

(i) A student secured the marks in
different subjects as given below-:

qTA a3 o{rwe (o Rewe o 11

TIPHR GO
MIL | English| Physics| Chemistry | Biology| Maths
65 50 75 80 75 60 -
From the above data, draw a pie
diagram. 4
TS SUPTRA (1 <51 211X B Wi |

* &k

A7—4000/625 - 3 (Sem-6) ZOO



